6. Obtain the simplified Boolean functions of the

full-adder in sum of products formand draw the

logic %mo_‘m:‘_ using NAND gates.
w mxn,_mmn ﬁ:mﬁo__oi_:m“ _ |

A,mv Virtual _smioa\
" (b) DMA

(e) . w‘mmmﬂm.. Memory

(d) Index-Memory

8. Why does DMA have priority over the CPU ?

When both request a memory transfer ? -
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- Candidates are x,mQS.BQ to give their Sowels
their own words as far as bﬁmow\nmo\m.. _
The figures in vﬁvm_Sm@S Sg.omﬂm w:\\_ marks.
- Answer from 0.03 S_m Groups as directed. ,
L e _
~ (Objective-type D:mmmo:mv,
>mw<<m_.,m:ncmm:.o:m. ,
‘__. ,, o:oom.m the correct answer from the ﬁo__os\m:u : _
| L ey
(8) The binary addition (1001 + 100) equals o |
g 1011 with cary 1 o
(i) 1010with cary 1
- (iii) 1010withcary0

(iv) None of these

ME - 6/1 . : (Turn o<.m_.,v,
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(b) Odd oneout:
(i) Omorm
(i) Mainmemory
(i) Burers
A_s mmoo:nm;\ memory
, ey mvmo.mm the address oﬁ the :mxﬁ
instruction to am mxmocﬁma |
@i IR
@) PC
(i) MAR
(v): MBR
@ The decimal <mEm 023\_01 o: is
M 5175
(i) 55.75
(i) mNNm,
(iv) None ofthese
(e) mem?m numbers are stored in the system
' inthe form of: _ |
(i) 1's complement

(2. Contd.

()

(@) The most common system mmoczé Bmﬁsoa

(i) 2's complement

(i) Both (i) oo (i

A_s None of Smmm

Main 3@302 isa oo__mo:cz of :
(i) Instructions

(it) Umﬁm

(i) _:m:co:o: and amﬁm

(iv) >aa«mmm

is :

(i) Password

(ii) Xm<oma system

(jii) Mantrap

e<v None o* ﬁ:mmm

3 is a slowest mﬁoﬁm@m 3m39< to
o oovf:wcéo:o:m and operands.
(i) Ram
(i) Rom
(iif) Owo:m
(iv) HDD
A._d.S. over)

g (8



{0)

0)

Ll establishes the communication
maozm processors, main memory and I/0
modules. L _

(i) Address bus

ec,,. Data _u.cw

(iii) Controlbus

(iv) m<m~m3 bus

isa aﬁm of processor architecture

. Smﬁ S_:Nmm :6:2 on:B.xma set 96

_:m:coco:m :

i) cisc

(i) RISC
(i) VISC
(v) LISC

Group-B

; Fo:m-mzmim_..?vm Dnmmzo:mv

>:w<<mﬁ any _"o:.. ncmm:o:m of the d..o__os\_:m

15%4 = 60

2. (a) <m:2 the two De- _<_oamz S Smo_.m:‘_m by
means of truth tables. .
ME — 6/1 (4) 5 Contd,

4.

MEZ6MA . i)

AS m_Bu__? the *o__os::m ‘Boolean E:oﬁ_o:m
m_mmcnm_om__u\

(i) X2 + x<N
(i) (A+BYy (A +BY
(i) A+A'B+AB"
(V) ehyl by 0

Mty

(a) Showthat aJK w_mu.aov can be oo:<mnma to

a D- _n___u -Flop s\:: an _:<mnmﬂ Umgmma »sm
Jand K Snca

(b) ,mxu_m_: Bmwﬁm?m_m% _u__v zov using J-K
Flip-flop.

Why z>zo @mﬁm is called a universal @mﬁm ? ,Emg\

your answer construct _om_om_ equivalence of AND

and OR using NOR-gate.

(@) Write the decimal equivalent of
-(11010.111),, (736.5)g and (3FA.8),¢

(b) Convert the following decimal numbers to
binary:

12.0625, 10%, 673.23 and 1998

( .33 over)




